
Spiel 1 Spiel 2 Gesamt

Spiel 002 10:20 B 1 SEELIGER Lothar 42 + 39 = 81

B 2 BRANDSTETTER Karl 40 + 56 = 96 #

Spiel 004 10:35 B 3 HAAS Erwin 43 + 45 = 88

B 4 KÖCK Ernst 46 + 52 = 98 # #

Spiel 006 10:49 B 5 ÖLLERMEIER Fritz 52 + 46 = 98

B 1 SEELIGER Lothar 37 + 48 = 85

Spiel 008 11:02 B 2 BRANDSTETTER Karl 49 + 56 = 105

B 3 HAAS Erwin 35 + 41 = 76

Spiel 010 11:16 B 4 KÖCK Ernst 48 + 44 = 92

B 5 ÖLLERMEIER Fritz 44 + 56 = 100

Spiel 012 11:31 B 1 SEELIGER Lothar 45 + 25 = 70

B 3 HAAS Erwin 48 + 47 = 95

Spiel 014 11:46 B 2 BRANDSTETTER Karl 56 + 56 = 112 # #

B 4 KÖCK Ernst 53 + 45 = 98 #

Spiel 016 11:59 B 3 HAAS Erwin 43 + 50 = 93

B 5 ÖLLERMEIER Fritz 43 + 55 = 98 O

Spiel 018 12:14 B 4 KÖCK Ernst 39 + 48 = 87

B 1 SEELIGER Lothar 31 + 46 = 77

Spiel 020 12:29 B 5 ÖLLERMEIER Fritz 39 + 55 = 94

B 2 BRANDSTETTER Karl 50 + 54 = 104


